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1
Introduction
In [1] the co-existence simulation results of 3 cases for outdoor RN were provided. In this contribution the simulation results for .the remaining case are given.
2 Scenario and Assumptions
In this contribution case4-1 and case4-2 are studied as list in table1. In simulation the 5RNs per cell are all active in access reception mode, and there are 3UE served by every eNB and RN. In this simplified mode, only throughput of RUE-RN link is taken into account.
Table 1

	Case
	Aggressors
	Victim Link
	Relay Deployment
	RN antenna configuration
	Propagaion Model
	RN Max Power
	Power control

	A4-1
	UE 
	UE-> RN

UE->eNB
	6.2.1

Case 1
DR=1.5R


	6.4b
Outdoor relay
GBH = 15 dBi


	Case 1

with site planning
NLOS


	PAC,max=30 dBm

PBH.max=30 dBm

	PC1


	A4-2
	
	
	
	
	
	
	PC2

	C4-1
	
	
	6.2.1

Case 3
DR=1.5R


	
	Case 3

with site planning
NLOS


	
	 PC1


	C4-2
	
	
	
	
	
	
	PC2


3 Simulation Results

3.1 Case A
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Figure 1: simulation result for Case A4-1 
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Figure 2: simulation result for Case A4-2
3.2 Case C
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Figure 3: simulation result for Case C4-1
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Figure 4: simulation result for case C4-2
According to the simulation results shown above, for most cases it is feasible to achieve 5% throughput loss criteria for RN access link with the same ACS requirement of eNB.
4 Conclusion
This contribution presents results for outdoor RN with access reception as victim link. The assumptions suggested in [2] for coexistence studies are used.
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